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>> a=[4 -1 3]
ad=

4 -1 3
>>a'
ans =

4

-1
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>>a=[4 -1 3]; K CATEPY B THAotIEAKRFEVE T,
>> b=[-2 5 2]; >>sum(a.*b)

> a%b ons -

ans = -7 >> dot(a,b)

>> a.%b ans =

ans=-8 -5 6 -7
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Eb:—#RELEL rand(m,n)
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EobkixFzELTaE— >> 7=X
xD1FIBDEBEHZEOBRMYHEL., zD4FBIZHRA  >>z(4)=x(1)
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>> A >> C=A*B
A= C=
2 5 1 2 22 -7
0O 3 -1 -8 10 -7
/7 3 8 44 28 9
>> B >> A(1,:)*B(:,1)
B= ans =
1 0 1 2
-1 4 -2 >>C(1,1)
5 2 1 ans =

2
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>> A
A =
2 5 1
o 3 -1
7 3 8
>> det(A)

ans =
-2.0000
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(1)MATLABZ{EST. LT DITHZERL. a)~g)&stHELESLY,

A= B= C= D= | =
2 1 1 3 2 1 2 1 0
0 -1 -1 5 -1 -2 0 1
3 0 0 2
a) D*B
%k
b) B°C 4L CABIS— A t—S A,
c) (C*B)*D ESLTHETELRLDAEZTHES !
d) B-I1*B E b 1THI DT EEFIE
e) A*C
f) det(B)

Error using *
Inner matrix dimensions must agree.

g) det(A*C)
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3x+2y-z=10

<_x+3y+2Z=5 >>pb=[105 -1]
b =
x-y-z=-1 10
Ny 5
1
>> A=[32-1:-13 2:1 -1 -1] o> xeinv(A)*b
A= -
3 2 - -2.0000
13 2 5.0000
1 -1 -1

-6.0000
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WITHZERBLEWN(ZFDITZINTIEINARLY),

3x+2y-z=10
>>b=[105 -1]
<—x+3y+22=5 b=
10
x-y-z=-1 c
1
>>A=[32-1;-132;1-1-1] >> x=A\b
A= X =
3 2 1 -2.0000
1 3 2 5.0000
1 -1 -1 -6.0000
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®<”_2x+y=_3 x+dy-z+w=2
x+y=3 2x+7y+z-2w=16
10x-7y=7 = <x+4y—z+2w=—15

@) -3x+2y+6z=4 3x-10y-2z+5w=-15
Sx+y+5z=06
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